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T2 SEEHBHE (FK28~3 0FFE)

*eE1 TREHE
EXAS AEEHRBARH
i) X i} f % g R H 7B R 35 78 100. Okm2
5 =] N £ B 265 (R |21FE (RHERA) | 285FF (MFE) 29FE 30F £E FE
3 i X b 1] | |km 57.8 57.8 57.8 57.8 57.8
BE| #t #6 X 5 9 — #if t# & & E 33,552 33,792 34, 157 34,522 34, 887
3 EERRERBRMGHK |E 24,223 24,334 24, 465 24,495 24,495
O R B KN HTFEE MU R % 1.1 0.5 0.5 0.1 0.0
B HRA—S—FE KR # % |\ 26, 234 26, 346 26, 488 26, 521 26, 521
i FERRERIRME % 92.3 92.4 92.4 92. 4 92. 4
XEF HEREERNEHEERE % 78.2 78.0 17.5 76. 8 76.0
BEHEEHERARERE R H% 12.2 72.0 71.6 71.0 70.2
$
# o R _# A |m 534, 266 535, 749 537,094 538, 601 540, 748
BEER M A F E MU K % 0.1 0.3 0.3 0.3 0.4
#ft #8 X B 4 |m 1,250 1,250 1,250 1,250 1,250
i) X i} #t % g R H 17 B X 12l T 7R 100. Okm2
5 =] N £ B 265 (R |21FE (RHERA) | 8% (MFE) 29FE 30F £E FE
1B i X b 1] #|km 0 0.0 0.3
Mgt dE X R — g FH M B 0 0 140
FIH e R E NEERRERRMGH |#E 0 0 0
E| ARA—5—|F B K B+ # % @ 0 0 0
# EERRERBMTE % 0.0 0.0 0.0
BE MHERERNEEERE % 0.0 0.0 0.0
RER#HEHERARERET R H% 0.0 0.0 0.0
H|E
BEER B 8 X #H BN |m 0 0 196
#ft #8 X B 4 |m 0 0 620
i) X i} #t % g R W 17 B X 12l T 7R 100. Okm2
5 =] N £ B 265 (R |21FE (RERA) | 85FF (MFE) 29FE 30FFE £E FE
1B i X b 1] | |km 57.8 57.8 57.8 57.8 58. 1
mit X R — K E 33,552 33,792 34, 157 34,522 35, 027
®ift e R B NEEXRRERARMGYK |[# 24,223 24,334 24, 465 24,495 24,495
B HRA—S—FE RXR & & % |\ 26, 234 26, 346 26, 488 26, 521 26, 521
i FERRERIRME % 92.3 92.4 92.4 92. 4 92. 4
XEF HERERNEHEERE % 78.2 78.0 17.5 76. 8 15.7
BEHEEHERARERE R H% 12.2 72.0 71.6 71.0 69.9
=
HEER # 8 X B A |m 534, 266 535, 749 537, 094 538, 601 540, 944
#ft #8 X 8 4 |m 1,250 1,250 1,250 1,250 1,870
GE) 1 HERBNEAERE=HHEREN TR A -2 —FERIMA R HERE—RETFH x 100
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HEXENREATRE=RERBNAR A — 2 —FERRERART R - HEXE N —R1#HFHR %100

EERFEAMMGE=H#ERENT R A -2 —FERREARMH - HERBERAATR A — 2 —FERITHH K x 100
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X1 EREHE
EXES ABEEARBAEH
i) £ fT 1 % — = fr TR 8 T A 23. Okm2
b} B N F B 266 E (R#) [21FE (RERNA) | 2858 WFE) 295 30 F£E £E
ft  # X s @  m |km 23.0 23.0 23.0 23.0 23.0
BE| ft #6 X B 9 — Mt % W | 5,052 5,183 5, 244 5. 305 5. 367
= EERRERRMH_[E 2,850 2,872 2,888 2,892 2,892
DIt 4 K B KX A E E U R % 1.0 0.8 0.6 0.1 0.0
| HFRA—B—[F F X W © %@ 3,156 3,179 3,196 3,200 3,200
#® EERREMRMAE % 90.3 90.3 90.4 90.4 90.4
(B[ ft 46 X 8 ) & th & R E [% 62.5 61.3 60.9 60.3 59. 6
BRI X ARERE R H% 56.4 55.4 55. 1 54.5 53.9
2
% K B\ [m 134,147 134,226 134,337 134,337 134,337
HEER (N HEIFE E MU X % 0.0 0.1 0.1 0.0 0.0
#ft #8 X B 4 |m 0 0 0 0 0
i) X fT 1 % — = fr TR 8 T A 23. Okm2
b} B N F B 266 E (R#) [21FE (RERA) | 2858 HFE) 29F 30 F£E £E
IR ) 0.0 0.0 0.0
mi X R — K B 0 0 0
T R NEERRERARGH |E 0 0 0
B| HRA—S—F E KR 4 # % |\ 0 0 0
1# FERRERBMMSE % 0.0 0.0 0.0
HBE HEXERNEEETRE % 0.0 0.0 0.0
RE#EaRBERNRTERE R H% 0.0 0.0 0.0
&
BEER |t £ X B A |m 0 0 0
f#t # X 5 5 [m 0 0 0
i) £ fT 1 % — = fr TR 8 1 23. Okm2
b} B N F B 265 E (R#5) [21FE (REFA) | 2858 WFE) 295 30 F£E £E
IR ) 23.0 23.0 23.0 23.0 23.0
Mg K o — Bt E W | 5,052 5,183 5, 244 5. 305 5. 367
%G 8 X B NEERREARNYE | 2,850 2,872 2,888 2,892 2,892
| FRA—5—[F E X B © %@ 3,156 3,179 3,196 3,200 3,200
#® EERREMRMAE % 90.3 90.3 90.4 90.4 90.4
(B[ ft 46 XK 8 & th & R E [% 62.5 61.3 60.9 60.3 59. 6
BRI X ARERE R H% 56.4 55.4 55. 1 54.5 53.9
2
BEER [t ¥ X B M [m 134,147 134,226 134,337 134,337 134,337
#ft #8 X 8 4 |m 0 0 0 0 0
GE) 1 BBERBNEAERE=HHERENTR A —2 —FERIFRE - SRS —HRiHH % 100
2 HHREENREATRE=HERBNARA -2 —FERRERRTH - HEXE N —R#HHFH %100
3 FERFEARMR=HH{ERBEATRA -4 —FERREARMY - HERBERN TR A -5 —FERIMAHHH x 100
4 TTBEREERE] . [MERgEHE] . (ERERERERE] | TFEXRRERRMEMMEERVER] | MERERNEEAERE] | TFERXRERETRE] RV
TEEERMBREAMAMEEMUE] M IRFE2MEMELALMABILETEH,
5 #BL—MRARFXZECHAR. TEFERREAMGH . TFERRMGREL . TFEXRRERDMGER) | ERENSAERE) | T#ERBRTERTRE] & U

TEEERMBREERN] TDWVT (

) MIZCHEE L TRHE,




EXEA REEHRMBASH
il X i) 1 % & £ # TR 8 T A 28. 3km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 S0F B gE FEE
1# & X 15 i1 & |km2 4.9 4.9 4.9 4.9 4.9
Bl e R B A — i H K F 1,565 1,595 1,633 1,670 1,707
= EEXRRERDRMAH @A 124 186 187 187 187
DOt 8 X B N HFEE B U E (% 40.9 50.0 0.5 0.0 0.0
#| ARA—2—|E E X I+ # % @ 231 226 227 221 227
# FERRERREE % 53.7 82.3 82.4 82.4 82.4
RE #tERBERNEEKERE % 14.8 14.2 13.9 13.6 13.3
HBEH#BEEERNRERET R H% 7.9 1.7 11.5 1.2 11.0
=
"o R B A Im 11,786 11,788 11,788 11,788 11,788
BEER x Bl FE B UV E|% 1.1 0.0 0.0 0.0 0.0
#of8 X B s |m 1,800 1,800 1,800 1, 800 1, 800
il X i) 1 % & £ # TR 8 T A 28. 3km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FE HEE) YRE: 33 S0F B gE FEE
1) & X 15 i1 ®|km2 0.0 0.0 0.0
e X B A — i EH K E 0 0 0
Fift R NEERRERARGH @ 0 0 0
E| ARA—2—|E E X I 4 # % @ 0 0 0
1# FEXRRERRMAE % 0.0 0.0 0.0
BE #HBERERNERERE % 0.0 0.0 0.0
R #HERERNRERE R 2% 0.0 0.0 0.0
BEER # 8 X B A |m 0 0 0
#of8 X B s |m 0 0 0
il X i) 1 % & £ # TR 8 1 28. 3km2
5 B N & E 26 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 S0F B gE FEE
1) & X 15 i1 & |km2 4.9 4.9 4.9 4.9 4.9
ml e X B A — i EH K F 1,565 1,595 1,633 1,670 1,707
‘MM AR NEERREARGS |{# 124 186 187 187 187
#| ARA—2—|E E X I+ # % @ 231 226 227 221 227
# FEXRRERRMEE % 53.7 82.3 82.4 82.4 82.4
RE #tERBERNEEKERE % 14.8 14.2 13.9 13.6 13.3
HBEH#BEEERNRERT R H% 7.9 1.7 11.5 1.2 11.0
BEER f#t & X 5 N |m 11,786 11,788 11,788 11,788 11,788
o8 X 8 s |m 1,800 1, 800 1, 800 1, 800 1, 800
GF) 1 HRRENEAERE=HHRBEANTIA -2 —FEERRMARH - HEXE— BT x 100
2 HHREBENREAETRE=#HREBENATR A -3 —FERREAMMHR - HEXBR—ARHTFEH % 100
3 EEXRFEARME=#HERENARA - —FERREARGTH-HERBATZ A —2 —FERITHHEH %100
4 TABRRE@EE] . MMEREEE] . (HERERSEERE) | TFEXREARGRAMEERUOER] | HERBERNEEERE) | TFEXREAERE] RV
EEERMERENNTMEEMRVE] FMRE2MEZOEEIALNMEAFIMETREH,
5 ABL—MRAREEZECHER. FERREARMH . TFERRMABEK . TFERREARME] | THEXBENSALTRE) . [HERBNREALTRE] 8&U

MBEERBEHBEREBRN] 1220V T ( ) NI E L TEE.




X1 EREHE
EXES ABEEARBAEH
i X B #f % B R A T IS E i 35. 6km2
b} B N F B 266 E (R#) [215E (RERA) | 2858 WFE) 295 30 F£E £E
ft  # X s @  m |km 0.2 0.2 0.2 0.2 0.2
BE| ft #6 X B 9 — Mt % W | 130 137 138 139 140
3 EERRERDRMGHK |E 35 35 35 35 35
DIt 4 K B KX A E E U R % 2.8 0.0 0.0 0.0 0.0
| HFRA—B—[F F X W © %@ 35 35 35 35 35
#® EERREMRMAE % 100.0 100.0 100.0 100.0 100.0
(B[ ft 46 X 8 ) & th & R E [% 26.9 25.5 25.4 25.2 25.0
BRI X ARERE R H% 26.9 25.5 25.4 25.2 25.0
2
% K B\ [m 2,288 2,288 2,288 2,288 2,288
HEER (N HEIFE E MU X % 0.0 0.0 0.0 0.0 0.0
#ft #8 X B 4 |m 0 0 0 0 0
i X i # % B R A T IS E i 35. 6km2
b} B N F B 266 E (R#) [21FE (RERA) | 2858 HFE) 29F 30 F£E £E
IR ) 0.0 0.0 0.0
mi X R — K B 0 0 0
T R NEERRERARGH |E 0 0 0
B| HRA—S—F E KR 4 # % |\ 0 0 0
1# FERRERBMMSE % 0.0 0.0 0.0
HBE HEXERNEEETRE % 0.0 0.0 0.0
RE#EaRBERNRTERE R H% 0.0 0.0 0.0
&
BEER |t £ X B A |m 0 0 0
f#t # X 5 5 [m 0 0 0
i X i # % B R A T IS E 35. 6km2
b} B N F B 265 E (R#) [215E (REFA) | 2858 WFE) 295 30 F£E £E
IR ) 0.2 0.2 0.2 0.2 0.2
Mg K o — Bt E W | 130 137 138 139 140
mift e R B NEEXRRERARMGYK |[# 35 35 35 35 35
| FRA—5—[F E X B © %@ 35 35 35 35 35
#® EERREMRMAE % 100.0 100.0 100.0 100.0 100.0
(B[ ft 46 XK 8 & th & R E [% 26.9 25.5 25.4 25.2 25.0
BRI X ARERE R H% 26.9 25.5 25.4 25.2 25.0
2
BEER [t ¥ X B M [m 2,288 2,288 2,288 2,288 2,288
#ft #8 X 8 4 |m 0 0 0 0 0
GE) 1 BBERBNEAERE=HHERENTR A —2 —FERIFRE - SRS —HRiHH % 100
2 HHREENREATRE=HERBNARA -2 —FERRERRTH - HEXE N —R#HHFH %100
3 FERFEARMR=HH{ERBEATRA -4 —FERREARMY - HERBERN TR A -5 —FERIMAHHH x 100
4 TTBEREERE] . [MERgEHE] . (ERERERERE] | TFEXRRERRMEMMEERVER] | MERERNEEAERE] | TFERXRERETRE] RV
TEEERMBREAMAMEEMUE] M IRFE2MEMELALMABILETEH,
5 #BL—MRARFXZECHAR. TEFERREAMGH . TFERRMGREL . TFEXRRERDMGER) | ERENSAERE) | T#ERBRTERTRE] & U

TEEERMBREERN] TDWVT (

) MIZCHEE L TRHE,




EXEA REEHRMBASH
i) £ fT 1 £ XA % E M THREXEEE 129. 8km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 S0F B gE FEE
1# & X 15 i1 & |km2 6.0 6.0 6.0 6.0 6.0
Bl e R B A — i H K F 1,411 1,390 1,379 1,367 1, 356
= FERARERDMS . |E 719 713 117 718 718
DOt 8 X B N HFEE B U E (% -1.0 -0.8 0.6 0.1 0.0
#| ARA—2—|E E X I+ # % @ 870 866 871 872 872
# FERRERREE % 82.6 82.3 82.3 82.3 82.3
RE #tERBERNEEKERE % 61.7 62.3 63. 2 63.8 64.3
HBEH#BEEERNRERET R H% 51.0 51.3 52.0 52.5 52.9
=
"o R B A Im 19,367 19,368 19,496 19,496 19,496
BEER x Bl FE B UV E|% -0.3 0.0 0.7 0.0 0.0
#of8 X B s |m 0 0 0 0 0
i) X fT 1 £ X % E M THREXEEE 129. 8km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FE HEE) YRE: 33 S0F B gE FEE
1) & X 15 i1 ®|km2 0.0 0.0 0.0
e X B A — i EH K E 0 0 0
Fift R NEERRERARGH @ 0 0 0
E| ARA—2—|E E X I 4 # % @ 0 0 0
1# FEXRRERRMAE % 0.0 0.0 0.0
BE #HBERERNERERE % 0.0 0.0 0.0
R #HERERNRERE R 2% 0.0 0.0 0.0
A E S
BEER # 8 X B A |m 0 0 0
#of8 X B s |m 0 0 0
i) £ fT 1 £ XA % E M THREXEEE 129. 8km2
5 B N & E 26 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 S0F B gE FEE
1) & X 15 i1 & |km2 6.0 6.0 6.0 6.0 6.0
ml e X B A — i EH K F 1,411 1,390 1,379 1,367 1, 356
‘MM AR NEERREARGS |{# 719 713 117 718 718
#| ARA—2—|E E X I+ # % @ 870 866 871 872 872
# FEXRRERRMEE % 82.6 82.3 82.3 82.3 82.3
RE #tERBERNEEKERE % 61.7 62.3 63. 2 63.8 64.3
HBEH#BEEERNRERT R H% 51.0 51.3 52.0 52.5 52.9
=
BEER f#t & X 5 N |m 19, 367 19, 368 19, 496 19, 496 19, 496
o8 X 8 s |m 0 0 0 0 0
GF) 1 HRRENEAERE=HHRBEANTIA -2 —FEERRMARH - HEXE— BT x 100
2 HHREBENREAETRE=#HREBENATR A -3 —FERREAMMHR - HEXBR—ARHTFEH % 100
3 EEXRFEARME=#HERENARA - —FERREARGTH-HERBATZ A —2 —FERITHHEH %100
4 TABRRE@EE] . MMEREEE] . (HERERSEERE) | TFEXREARGRAMEERUOER] | HERBERNEEERE) | TFEXREAERE] RV
EEERMERENNTMEEMRVE] FMRE2MEZOEEIALNMEAFIMETREH,
5 ABL—MRAREEZECHER. FERREARMH . TFERRMABEK . TFERREARME] | THEXBENSALTRE) . [HERBNREALTRE] 8&U

TEEERMBREERN] TDWVT (

) MIZCHEE L TRHE,




EXEA REEHRMBASH
il X i) 1 £ R THREXEEE 368. 2km2
5 B N & E 26 E (E#E) [21FE (RERA) | 8FE HEE) YRE: 33 30FE gE FEE
f# & X 15 i & |km2 110.8 110.8 110.8 110.8 110.8
BE| #f #6 X & R — i # & & F 102, 493 104, 210 105, 508 106, 805 108, 102
= EEXRRERDRMAH @A 49,330 49,702 50, 246 50,626 50, 959
Dt 46 X = N Bl FE B U E % 0.8 0.8 1.1 0.8 0.7
W) ARA—2—1F E X R & & |\ 51,632 52, 025 52,594 52, 989 53, 337
# FEERRERRME |% 95.5 95.5 95.5 95.5 95.5
RE #tERBERNEEKERE % 50.4 49.9 49.8 49.6 49.3
Bk #ERBERANREARALT R H% 48.1 41.7 47.6 47.4 47.1
=
# B K = A |m 812,229 818,061 821,093 824,181 830, 300
BEER x Bl FE B UV E|% 0.7 0.7 0.4 0.4 0.7
# 8 X B S |m 5,000 5,000 5,000 5,000 5,000
il ES i) 1 £ THREXEEE 368. 2km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FE HEE) YRE: 33 30FE gE FEE
#| & X 15 i1 & |km2 .0 0.0 0.0
e X R — iR R E 0 0 0
FI RS NEERRERARMAHE  [#E 0 0 0
E| ARA—42—|FE B X B4 & & |@E 0 0 0
f# FEXRRERRMAE % 0.0 0.0 0.0
BE #HBERERNERERE % 0.0 0.0 0.0
RE #HEREBERNRERE R % 0.0 0.0 0.0
BEER # 8 X B A |m 0 0 0
# 8 X B S |m 0 0 0
il X i) 1 £ THREXEEE 368. 2km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 30FE gE FEE
#| & X 15 i & |km2 110.8 110.8 110.8 110.8 110.8
| oHE X R — iR R Il 102, 493 104, 210 105, 508 106, 805 108, 102
‘it AR S NEEXRERRMAR A 49, 330 49, 702 50, 246 50, 626 50, 959
W) ARA—2—1F E X R & &% |\ 51,632 52, 025 52,594 52, 989 53, 337
# FEERRERRME |% 95.5 95.5 95.5 95.5 95.5
RE #tERBERNEEKERE % 50.4 49.9 49.8 49. 6 49.3
Bk #ERERANREALT R H% 48.1 41.7 47.6 47.4 47.1
BEER f#t & X 5 N |m 812,229 818, 061 821,093 824,187 830, 300
# 8 X B S |m 5,000 5,000 5,000 5,000 5,000

GE) 1 HBREN2AEZRE=HARBRAHTRAA —F —EERITRH - HARE— &5 x 100
BEERENRERAERE=ERREBEA TR A — Y —FERREANMH - HERER—BHEHFH x 100
EEFRREARME=EHRBEAHTRIA -4 —EEXRREANTH - HERBAHT R A —2 —FEREFT BRI x 100

MTHXEEE] . THEREEE] . THERENEARERER) | FEXREARMNHNTTEEHRUE] . THERERNEAERE] [ FEXRERTRE] RV
TEEEREARENMITEEBRUTE] FIMHEAFE2MEEEEALIMEAEILE L.

HHEL—BHARBEEZECESE. TEEXRREARMHI . TEERRMARHK) . TEEXRERRME] | THERERNEAKERE) . THARBARERETRE] LU
MBEERBEHBEREBRN] 1220V T ( ) NI E L TEE.
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[¢)]




X1 EREHE
EXES ABEEARBAEH
it} X fT #t % FEHHRR 17 B X 12l T 7R 44. 8km2
b} B N F B 265 F (R#) [21FE (REFA) | 28858 WFE) 295 30 F£E £E
ft  # X s @  m |km 8.0 8.0 8.0 8.0 8.0
BE| ft #6 X B 9 — Mt % W | 10, 703 10, 849 11,009 11, 169 11,328
= EERRERRMH_[E 4,556 4,656 4,731 4,808 4,872
DIt 4 K B KX A E E U R % 2.8 2.2 1.6 1.6 1.3
| HFRA—B—[F F X W © %@ 4,726 4, 821 4,898 4,971 5,043
#® EERREMRMAE % 96.4 96.6 96.6 96. 6 96. 6
(B[ ft 46 X 8 ) & th & R E [% 44.2 44.4 44.5 44,6 44,5
BRI X ARERE R H% 42.6 42.9 43.0 13.0 13.0
2
% K B\ [m 69, 668 70, 743 71,983 73,319 74,303
HEER (N HEIFE E MU X % 0.6 1.5 1.8 1.9 1.3
#ft #8 X B 4 |m 0 0 0 0 0
it} X fT #t % FEHHRR 17 B X 12l T 7R 44. 8km2
b} B N F B 266 E (R#) [21FE (RERA) | 28858 WFE) 29F 30 F£E £E
IR ) 0.0 0.0 0.0
mi X R — K B 0 0 0
T R NEERRERARGH |E 0 0 0
B| HRA—S—F E KR 4 # % |\ 0 0 0
1# FERRERBMMSE % 0.0 0.0 0.0
HBE HEXERNEEETRE % 0.0 0.0 0.0
RE#EaRBERNRTERE R H% 0.0 0.0 0.0
&
BEER |t £ X B A |m 0 0 0
f#t # X 5 5 [m 0 0 0
it} X fT #t % FEHHRR 17 B X 12l T 7R 44. 8km2
b} B N F B 265 F (R#) [21FE (REFA) | 28858 WFE) 295 30 F£E £E
IR ) 8.0 8.0 8.0 8.0 8.0
Mg K o — Bt E W | 10, 703 10, 849 11,009 11, 169 11,328
%G 8 X B NEERREARNYE | 4,556 4,656 4,731 4,808 4,872
| FRA—5—[F E X B © %@ 4,726 4,821 4,898 4,971 5. 043
#® EERREMRMAE % 96.4 96. 6 96. 6 96. 6 96. 6
(B[ ft 46 XK 8 & th & R E [% 44.2 44.4 44.5 44.6 44.5
BRI X ARERE R H% 42.6 42.9 43.0 3.0 3.0
2
BEER [t ¥ X B M [m 69. 668 70,743 71,983 73,319 74,303
#ft #8 X 8 4 |m 0 0 0 0 0
GE) 1 BBERBNEAERE=HHERENTR A —2 —FERIFRE - SRS —HRiHH % 100
2 HHREENREATRE=HERBNARA -2 —FERRERRTH - HEXE N —R#HHFH %100
3 FERFEARMR=HH{ERBEATRA -4 —FERREARMY - HERBERN TR A -5 —FERIMAHHH x 100
4 TTBEREERE] . [MERgEHE] . (ERERERERE] | TFEXRRERRMEMMEERVER] | MERERNEEAERE] | TFERXRERETRE] RV
TEEERMBREAMAMEEMUE] M IRFE2MEMELALMABILETEH,
5 #BL—MRARFXZECHAR. TEFERREAMGH . TFERRMGREL . TFEXRRERDMGER) | ERENSAERE) | T#ERBRTERTRE] & U

TEEERMBREERN] TDWVT (

) MIZCHEE L TRHE,




*E1 TREE
EXAS AEEHRHARH
it} X BT f % FEREX 7B R S5 78 66. 4km2
5 =] N £ B 265 (R |21FE (RHERA) | 285FF (MFE) 29FE 30F £E FE
3 i X b i1 ®|km2 46. 8 46.8 46.8 46.8 46.8
BE| #t #6 X 5 9 — #if t# & & E 49, 005 49, 781 50, 639 51,498 52, 357
= EERRERDRMGHK |E 29,938 30, 386 30,874 31,375 31,801
O R B KN ETFEE MU R % 1.6 1.5 1.6 1.6 1.4
B HRA—S—FE RXR & & % |\ 31,044 31,513 32,017 32,534 32,975
i FERRERIRME % 96.4 96. 4 96. 4 96. 4 96. 4
XEF HEREERNEEERE % 63.3 63.3 63.2 63.2 63.0
BEHEEHERARERE R H% 61.1 61.0 61.0 60.9 60. 7
=
# e R _# A |m 404, 893 409, 074 414,022 417,103 419, 760
BEER M A F E MU K % 1.6 1.0 1.2 0.7 0.6
#t #8 X B 5 |m 0 0 0 0 0
it} X BT f % FEREX 1T R 5 8 66. 4km2
5 =] N £ B 265 (R |21FE (RHERA) | 8% (MFE) 29FE 30F £E FE
1B i X b 1] t  |km2 0.0 0.0 0.0
Mgt dE X R — i F M B 0 0 0
FIH e R E NEERRERRMGH |#E 0 0 0
E| ARA—5—|F E K B+ # % @ 0 0 0
# EERRERBMTE % 0.0 0.0 0.0
BE MHERERNEEERE % 0.0 0.0 0.0
RR#HEHERARERET R H% 0.0 0.0 0.0
H|E
BEER B 8 X #H BN |m 0 0 0
#ft #8 X B 4 |m 0 0 0
it} X BT f % FEREX 1T R 5 8 66. 4km2
5 =] N £ B 265 (R |21FE (RHERA) | 285FF (MFE) 29FE 30FFE £E FE
1B i X b i1 ®|km2 46. 8 46. 8 46.8 46.8 46.8
mit X R — K E 49, 005 49, 781 50, 639 51,498 52, 357
mift e R B NEEXRRERARMGYK |[# 29, 938 30, 386 30, 874 31,375 31, 801
B HRA—S—FE RXR & & % |\ 31,044 31,513 32,017 32,534 32,975
i FERRERIRME % 96.4 96. 4 96. 4 96. 4 96. 4
XEF HEREERNEHEERE % 63. 3 63. 3 63. 2 63. 2 63.0
BEHEEHERARERE R H% 61.1 61.0 61.0 60.9 60. 7
=
HEER # 8 X B A |m 404, 893 409, 074 414,022 417,103 419, 760
Bt #8 X B S |m 0 0 0 0 0
GE) 1 HERBNEAETRE=HHERBEN TR A —2 —FERIMF R HERE—REFH x 100
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MTERRE@EE] .

MR mEE] .

MtERENERERE] |

HEXENREATRE=RERBNAR A — 2 —FERRERART R - HEXE N —R1#HFHR %100
EERFEAMGE=H#ERENTR A -2 —FERREARMH - HERBRAATR A — 2 —FERITHHE K x 100
TEERRERMAHANEEMRTE] |

EEERMERENNTMEEMRVE] FMRE2MEZOEEIALNMEAFIMETREH,

[¢)]

HEL—RARBEESDHEEE.
MBEERBEHBEREBRN] 1220V T (

TEERRERMTE |

) MIZCHEE L TRHE,

MEERRSRE .

TEERRERMMAE] |

TR RERE] |
TR RERE] |

TFERREREREX] RU
MEREENREALTRE] 8&LU




X1 EREHE
EXES ABEEARBAEH
it} X fT #t % FEHEE 17 B X 12l T 7R 111. 2km2
b} B N F B 266 E (R#5) [21FE (REFA) | 2858 WFE) 295 30 F£E £E
ft  # X s @  m |km 54.8 54.8 54.8 54.8 54.8
BE| ft #6 X B 9 — Mt % W | 59, 708 60. 630 61. 648 62, 667 63, 685
= EERRERRMH_[E 34,494 35, 042 35, 605 36,183 36,673
DIt 4 K B KX A E E U R % 1.7 1.6 1.6 1.6 1.4
| HFRA—B—[F F X W © %@ 35,710 36,334 36,915 37.511 38,018
#® EERREMRMAE % 96.4 96.4 96.5 96.5 96.5
(B[ ft 46 X 8 ) & th & R E [% 59.9 59.9 59.9 59.9 59.7
BRI X ARERE R H% 57.8 57.8 57.8 57.7 57.6
2
% K B\ [m 474, 561 479,817 486, 005 490, 422 494,063
HEER (N HEIFE E MU X % 1.5 1.1 1.3 0.9 0.7
#ft #8 X B 4 |m 0 0 0 0 0
it} X fT #t % FEHEE 17 B X 12l T 7R 111. 2km2
b} B N F B 266 E (R#) [21FE (RERA) | 28858 WFE) 29F 30 F£E £E
IR ) 0.0 0.0 0.0
mi X R — K B 0 0 0
T R NEERRERARGH |E 0 0 0
B| HRA—S—F E KR 4 # % |\ 0 0 0
1# FERRERBMMSE % 0.0 0.0 0.0
HBE HEXERNEEETRE % 0.0 0.0 0.0
RE#EaRBERNRTERE R H% 0.0 0.0 0.0
&
BEER |t £ X B A |m 0 0 0
f#t # X 5 5 [m 0 0 0
it} X fT #t % FEHEE 17 B X 12l T 7R 111. 2km2
b} B N F B 266 E (R#5) [21FE (REFA) | 2858 WFE) 295 30 F£E £E
IR ) 54.8 54.8 54.8 54.8 54.8
Mg K o — Bt E W | 59, 708 60. 630 61. 648 62, 667 63, 685
%G 8 X B NEERREARNYE | 34,494 35, 042 35, 605 36,183 36,673
| FRA—5—[F E X B © %@ 35,770 36,334 36,915 37,511 38,018
#® EERREMRMAE % 96.4 96.4 96.5 96.5 96.5
(B[ ft 46 XK 8 & th & R E [% 59.9 59.9 59.9 59.9 59.7
BRI X ARERE R H% 57.8 57.8 57.8 57.7 57.6
2
BEER [t ¥ X B M [m 474, 561 479,817 486, 005 490, 422 494,063
#ft #8 X 8 4 |m 0 0 0 0 0
GE) 1 BBERBNEAERE=HHERENTR A —2 —FERIFRE - SRS —HRiHH % 100
2 HHREENREATRE=HERBNARA -2 —FERRERRTH - HEXE N —R#HHFH %100
3 FERFEARMR=HH{ERBEATRA -4 —FERREARMY - HERBERN TR A -5 —FERIMAHHH x 100
4 TTBEREERE] . [MERgEHE] . (ERERERERE] | TFEXRRERRMEMMEERVER] | MERERNEEAERE] | TFERXRERETRE] RV
TEEERMBREAMAMEEMUE] M IRFE2MEMELALMABILETEH,
5 #BL—MRARFXZECHAR. TEFERREAMGH . TFERRMGREL . TFEXRRERDMGER) | ERENSAERE) | T#ERBRTERTRE] & U

TEEERMBREERN] TDWVT (

) MIZCHEE L TRHE,




EXEA REEHRMBASH
il X i) 1 £ N F K THREXEEE 51. 4km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 30FE gE FEE
f# & X 15 i & |km2 42.6 42.6 42.6 42.6 42.6
BE| #f #6 X & R — i # & & F 56, 848 57,948 59, 048 60, 148 61,248
= EEXRRERDRMAH @A 44,640 44,854 44,936 45,145 45, 246
Dt 46 X = N Bl FE B U E % 1.1 0.5 0.2 0.5 0.2
W) ARA—2—1F E X R & & |\ 45, 607 45, 825 45,927 46, 151 46, 258
# FEERRERRME |% 97.9 97.9 97.8 97.8 97.8
RE #tERBERNEEKERE % 80.2 79.1 77.8 76. 7 75.5
Bk #ERBERANREARALT R H% 78.5 17.4 76.1 75.1 73.9
=
# B K = A |m 350, 966 357,457 370, 606 374,017 315,743
BEER x Bl FE B UV E|% 2.2 1.8 3.7 0.9 0.5
# 8 X B S |m 5, 265 5, 255 13, 281 13, 281 13, 281
il ES i) 1 £ N F K THREXEEE 51. 4km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FE HEE) YRE: 33 30FE gE FEE
#| & X 15 i1 & |km2 .0 0.0 0.0
e X R — iR R E 0 0 0
FI RS NEERRERARMAHE  [#E 0 0 0
E| ARA—42—|FE B X B4 & & |@E 0 0 0
f# FEXRRERRMAE % 0.0 0.0 0.0
BE #HBERERNERERE % 0.0 0.0 0.0
RE #HEREBERNRERE R I% 0.0 0.0 0.0
BEER # B K = A |m 0 0 0
# 8 X B S |m 0 0 0
il X i) 1 £ THREXEEE 51. 4km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FE HEE) YRE: 33 30FE gE FEE
#| & X 15 i & |km2 42.6 42.6 42.6 42.6 42.6
| oHE X R — iR R F 56, 848 57,948 59, 048 60, 148 61,248
‘MM AR NEERREARGS |{# 44, 640 44,854 44,936 45, 145 45, 246
W) ARA—2—1F E X R & &% |\ 45, 607 45, 825 45,9217 46, 151 46, 258
# FEERRERRME |% 97.9 97.9 97.8 97.8 97.8
RE #tERBERNEEKERE % 80.2 79.1 77.8 76. 7 75.5
Bk #ERERANREALT R H% 78.5 17.4 76. 1 75.1 73.9
BEER f#t & X 5 N |m 350, 966 357, 457 370, 606 374,017 375,743
# 8 X B S |m 5, 255 5, 255 13, 281 13, 281 13, 281

GE) 1 HBREN2AEZRE=HARBRAHTRAA —F —EERITRH - HARE— &5 x 100
BEERENRERAERE=ERREBEA TR A — Y —FERREANMH - HERER—BHEHFH x 100
EEFRREARME=EHRBEAHTRIA -4 —EEXRREANTH - HERBAHT R A —2 —FEREFT BRI x 100

MTHXEEE] . THEREEE] . THERENEARERER) | FEXREARMNHNTTEEHRUE] . THERERNEAERE] [ FEXRERTRE] RV
TEEEREARENMITEEBRUTE] FIMHEAFE2MEEEEALIMEAEILE L.

HHEL—BHARBEEZECESE. TEEXRREARMHI . TEERRMARHK) . TEEXRERRME] | THERERNEAKERE) . THARBARERETRE] LU
MBEERBEHBEREBRN] 1220V T ( ) NI E L TEE.
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EXEA REEHRMBASH
il X i} 1 % [TUR - ] TR 8 T A 146. 4km2
5 B N & E 26 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 S0F B gE FEE
1# & X 15 i1 & |km2 8.4 8.4 8.4 8.4 8.4
Bl e R B A — i H K F 3,176 3,172 3, 167 3,162 3,158
= EEXRRERDRMAH @A 1,834 1,821 1,821 1,821 1,821
DOt 8 X B N HFEE B U E (% -1.3 -0.7 0.0 0.0 0.0
#| ARA—2—|E E X I+ # % @ 2,035 2,016 2,016 2,016 2,016
# FERRERREE % 90. 1 90.3 90.3 90.3 90.3
RE #tERBERNEEKERE % 64. 1 63. 6 63.7 63.8 63.8
HBEH#BEEERNRERET R H% 57.7 57.4 57.5 57.6 57.7
=
"o R B A Im 53,027 53,128 53,305 53,826 54,015
BEER x Bl FE B UV E|% -0.1 0.2 0.3 1.0 0.4
#of8 X B s |m 0 0 0 0 0
il X i} 1 % [TUR - ] 146. 4km2
5 B N & E 265 FE (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 S0F B gE FEE
1) & X 15 i1 ®|km2 0.0 0.0 0.0
e X B A — i EH K E 0 0 0
Fift R NEERRERARGH @ 0 0 0
E| ARA—2—|E E X I 4 # % @ 0 0 0
1# FEXRRERRMAE % 0.0 0.0 0.0
BE #HBERERNERERE % 0.0 0.0 0.0
R #HERERNRERE R 2% 0.0 0.0 0.0
A E S
BEER # 8 X B A |m 0 0 0
#of8 X B s |m 0 0 0
il X i} 1 % [TU - ] TR 8 1 146. 4km2
5 B N & E 265 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 S0F B gE FEE
1) & X 15 i1 & |km2 8.4 8.4 8.4 8.4 8.4
ml e X B A — i EH K F 3,176 3,172 3, 167 3,162 3,158
‘MM AR NEERREARGS |{# 1,834 1,821 1,821 1,821 1,821
#| ARA—2—|E E X I+ # % @ 2,035 2,016 2,016 2,016 2,016
# FEXRRERRMEE % 90. 1 90.3 90.3 90.3 90.3
RE #tERBERNEEKERE % 64. 1 63. 6 63.7 63.8 63.8
HBEH#BEEERNRERT R H% 57.4 57.5 57.6 57.7
=
BEER f#t & X 5 N |m 53,027 53,128 53, 305 53, 826 54,015
o8 X 8 s |m 0 0 0 0 0
GF) 1 HRRENEAERE=HHRBEANTIA -2 —FEERRMARH - HEXE— BT x 100
2 HHREBENREAETRE=#HREBENATR A -3 —FERREAMMHR - HEXBR—ARHTFEH % 100
3 EEXRFEARME=#HERENARA - —FERREARGTH-HERBATZ A —2 —FERITHHEH %100
4 TABRRE@EE] . MMEREEE] . (HERERSEERE) | TFEXREARGRAMEERUOER] | HERBERNEEERE) | TFEXREAERE] RV
EEERMERENNTMEEMRVE] FMRE2MEZOEEIALNMEAFIMETREH,
5 ABL—MRAREEZECHER. FERREARMH . TFERRMABEK . TFERREARME] | THEXBENSALTRE) . [HERBNREALTRE] 8&U

TEEERMBREERN] TDWVT (

) MIZCHEE L TRHE,
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EXEA AEEARMASH
il X i) 1 £ £ Hh X THREXEEE 993. 9km2
5 B N & E 265 (Ei#F) 24 (EERA) | 28FF (WFE) YRE: 33 30FE gE FEE
f# & X 15 i & |km2 308.5 308.5 308.5 308.5 308.5
BE| #f #6 X & R — i # & & F 263, 935 268, 057 271,922 275,785 279, 650
= EEXRRERDRMAH @A 158, 249 159, 559 160, 900 162,102 163,026
Dt 46 X = N Bl FE B U E % 1.1 0.8 0.8 0.7 0.6
W) ARA—2—1F E X R & & |\ 165, 570 166, 852 168, 269 169, 522 170, 484
# FEERRERRME |% 95. 6 95.6 95.6 95.6 95. 6
RE #tERBERNEEKERE % 62.7 62.2 61.9 61.5 61.0
Bk #ERBERANREARALT R H% 60.0 59.5 59.2 58.8 58.3
=
# B K = A |m 2,392,637 2,411,882 2,436,012 2,449, 562 2,462,778
BEER X Bl FEE MUK (% 0.9 0.8 1.0 0.6 0.5
# 8 X B S |m 13,305 13, 305 21, 331 21, 331 21, 331
il ES i) 1 £ £ Hh X THREXEEE 993. 9km2
5 B N & E 26 E (E#E) [21FE (RERA) | 8FF HEE) YRE: 33 30FE gE FEE
#| & X 15 1] & |km2 0.0 0.0 0.3
e X R — iR R E 0 0 140
FI RS NEERRERARMAHE  [#E 0 0 0
E| ARA—42—|FE B X B4 & & |@E 0 0 0
f# FEXRRERRMAE % 0.0 0.0 0.0
BE #HBERERNERERE % 0.0 0.0 0.0
RE #HEREBERNRERE R % 0.0 0.0 0.0
A E S 0 0 0
BEER f#t & X #H N |m 0 0 196
# 8 X B S |m 0 0 620
il X i) 1 £ £ Hh X THREXEEE 993. 9km2
5 B N & E 26 E () [21FE (RERA) | 8FF HEE) YRE: 33 30FE gE FEE
#| & X 15 i & |km2 308.5 308.5 308.5 308.5 308.8
| oHE X R — iR R Il 263, 935 268, 057 271,922 275,785 279,790
‘it AR S NEEXRERRMAR A 158, 249 159, 559 160, 900 162, 102 163, 026
W) ARA—2—1F E X R & &% |\ 165, 570 166, 852 168, 269 169, 522 170, 484
# FEERRERRME |% 95. 6 95.6 95.6 95.6 95. 6
RE #tERBERNEEKERE % 62.7 62.2 61.9 61.5 60.9
Bk #ERERANREALT R H% 60.0 59.5 59.2 58.8 58.3
BEER f# 8 X B N |m 2,392,637 2,411,882 2,436,012 2,449,562 2,462,974
# 8 X B S |m 13,305 13, 305 21, 331 21, 331 21, 951

GE) 1 HBREN2AEZRE=HARBRAHTRAA —F —EERITRH - HARE— &5 x 100
BEERENRERAERE=ERREBEA TR A — Y —FERREANMH - HERER—BHEHFH x 100
EEFRREARME=EHRBEAHTRIA -4 —EEXRREANTH - HERBAHT R A —2 —FEREFT BRI x 100

MTHXEEE] . THEREEE] . THERENEARERER) | FEXREARMNHNTTEEHRUE] . THERERNEAERE] [ FEXRERTRE] RV
TEEEREARENMITEEBRUTE] FIMHEAFE2MEEEEALIMEAEILE L.
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